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d 'Z_ '; - public class CurrentConditions {
&M' (JB/L w— private double temperature; private double humidity;
public void[updateTemperaturéd(double t) { temperature = t; }
public void updateHumidity(double h) { humidity = h; }

public class WeatherStation { public C@urrentConditionsy) |

public static void main(String[] args) { ethodHandles.Lookup lookup = MethodHandles.lookup();
WeatherData wd = ne We\astherData(% 75, 25);
CurrentConditions = new CurrentConditions();

System.out.println("=======");
wd. s(15, 60, 30.4); :'

cc.display();

i lookup. Vi 1
System.out.println("======="); ookup. tindVirtual(

this.getClass(), "updateHumidity",
wd. setMeasurements (11, 90, 20); MethodType . methodType (void.class, double.class));
cc.display(); WeatherData.changeOnHumidity (§ubsczibe (this, uh);
b} } catch (Exception e) { e.printStackTrace(); }

}

public void display() {
System.out.println("Temperature: " + temperature);
System.out.println("Humidity: " + humidity); } }

public class
private double temperature;
private double pressure;
private double humidity;
public WeatherData(double t, double p, double h) {
nehle actiokh) | setMeasuremen

> o/é )
- public stati

}
void @Object fﬁ?) { public statid
for (Object listener : IdsfensrsActions.keySet A

MethodHandlelactlon{= listenersActions.get (listene public static{ / F new Event () ;

try | public void SetMe double h, double p) {
uacti on l QvokeWithArgume%

temperature = t;
} "ecatch (Throwable e) { } humidity = h;
}

}

pressure = p;
}
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changeOnTemperature .@( temperature) ;
(humidity) ;

changeOnPressure (P isP(pressure) ;
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class CURRENT_CONDITIONS ( \
create make () J\AAf@’ 7k ( 4—"—.§->
class WEATHER STATION create make Eont Fnitializatd Z f)
eature —— nitialization
feature e o
make (wd: WEATHER _DATA) @ J\‘/’;M (
cc: CURRENT_CONDITIONS Tdo
make wd.change_on_temeerature@ (agent [u date_temperaturq)
do create—wdrmake—{5775, 25) wd.change,on,bemp.eja.tu.:e.s scéribe (agent update_humidity)~
reate (cc.mak g end hoam? I{y
d (15, 60, 30.4) feature
temperature: REAL
wd.set_measurements (11, 90, 20) humidity: REAL —
cc.display [_'upaate_tem erature t: REAL l do temperature := t_end
end Update humidity J(h: REAL) do humidify := H end
displ do ... end
end pLay
end
- y——
,’ﬁ"ﬁ' lﬁ class%m_mm
s create
feature - Measurements
class( EVEN. _’ UPLE
createCm:._T}l) %) temperature: REAL ; humidity: REAL ; pressure: REAL
feature —- Tnitialization correct_limits(t,p,h: REAL): BOOLEAN do ... end
actions: LINKED LIST[PROCEDURE [ARGUMENTS] ] make (t, p, h: REAL) do ... end
feature - Event for data changes

make do create actions.make end

feature
(an_action: ®ROCEDURE GUMENTS] )

subscri.

require action_not_already_subscribed: not actions.h:
do actions.extend
B

(an_action)

action.has(an_action) end

7

EVENT [TUPLE [REAL] Jonce create Result end

: EVENT[TUPLE [REAL] Jonce create Result end

change_on_pressure : EVENT[TUPLE [REAL]]once create Result end

feature Command
set_measurements\t, p, h: REAL)

require correct_limits(t,p,h)

do temperature := t ; y p ; humidity := h
change_on_te ature i (
\change.on_humi dity I.publish )
change_on_pressure .publish ([] )
end
invariant correct_limits(temperature, pressure, humidity) end
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class FOO
i: INTEGER
increment_by 9
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class FOO
i: INTEGER
increment_by 9 @,M
requi 72, 62
> i;if/// ﬁ7.f>§?d,
do 2 et _—
i =1+ 9 7 T oA
ensure
& &= 13
end

end




